NO. | Component parts |Quentity|Material | Size & spec SKU#
01 Handle 1 Zinc 90076
02 Cover 1 ABS 90077
03 Screw 1 58 M5X8 90381
04 | Decorativering | H59 MASYL. 5 90031
05 Fixing Nut | H59 MASXL.5 | 90041
06 Cartridge 1 ABS+CERAMIC 90001
07 Body 1 H59 ¢ 55X97 90449
08 Rubber Cover | 1 NBR 14, 5X2 00313
09 Screw 1 SS M5X12 90276
10 Fast Fix 1 Zinc ¢ 44X80 90023
11 Screw 1 55 M3X5 90450
12 Spout 1 H59 o50x245 | 90075
1 3 Cartridge Body 1 H59 ¢ 50X27 90079
14 | Antifrictin Ring| 2 POM ¢ 50X1.2 | 90006
15 Snap Ring 1 POM ¢ 40X5 90022
16 0-Ring 2 NBR & 43.5X4.5 | 90447
17 Aerator set 1 H59+ABS M24X1 90347
18 Inlet pipe 2 PEX+SS M10X1#500 | 90357
19

Quantity 1 Material H59

Sku# 10135

Rosa Kitchen Faucet Chrome

Coating difference With 10135

1 10154 Brushed steel
2 10136 Antic brass
Designer Grana Team Drafting Date 1 June. 2007

Copyright ©2007-2017 GRANA OY , All Rights Reserved




	Nimeton



